WINAM GROUP

SPORT

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D’INSTALLATION

DATE: 4.9.2015

081310M

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

081310M

1

SPORT PLAY
DATE: 16.2.2018
707018 |pcs| 705024 |pcs| 705027 |pcs| 705037 |pcs| 705039 |pcs| 705040 |pcs
Acryl + BN ] B D o | D
sticker L L i i i i
8x640x560 15x640x560 120x120x1520 120x120x2590 216x974 216x764
705041 PCS 705044 |pcs 705050 |pcs 705059 |pcs 705231 PCS 705328 |pcs
14 2 4 2 2 1
9x451x1240 BLUE | WALL CLIMBER 120x120 WALL CLIMBER DEEP | 120x120x2290 120x120x570
705329 |pcs| 705330 |pcs| 705335 |pcs| 705345 |pcs| 705347 |pcs| 705348  |pcs
3 4 -
B o e 2 4 2
120x120x720 120x120x870 120x120x1000 120x120x1520 120x120x1990 120x120x300
705349  |pcs 705388 |pcs 705402 |pcs 705405 |pcs 705406 |pcs 705411 |pcs
4 6 2 2 ]
o o E @ﬂ Ela
120x120x400 120x120x2090 120x120x2290 120x120x500 126x181x15 M ACTIVE
705428 pcs| 705537 PCS 706017 PCS 706018 pcs| 706025 pcs| 706026 PCS
2 D 2 ﬁ 2 @ 2 @ 2
S ACTIVE 118x78 118x78 118x78 118x78
706027 |pcs| 706028 |pcs 706030 |pcs 706031 PCS 706036 |pcs| 706037 PCS
[ 2 [ 2 E 2 [ 2 @ 2 2
118x78 118x78 118x78 118x78 118x78 118x78
706060 |pcs| 706087 |pcs| 706088 |pcs| 900240 |pcs pcs| 902232  |pcs
o | 2 32 136 68
@1/
118x78 118x78 118x78 @8x70 150x50x50 M10x55

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

081310M

N

s

2(2)

SPORT mPLAY 3
DATE: 18.9.2017 a
902233 |pcs 902272 |pcs 902273 |pcs pcs| 904064 |pcs 905083 |pcs
68 16 | 112 4 16
,/ - - -
& ©
M10x30 90x90x450 P60x3416 232
905103 |pcs 905104 |pcs 905112 PCS 905761 PCS 905800 |pcs 905830 |pcs
47 268 16 ﬁ\ 67 2 50
PT—28/32—H M10 @22 120x120x700 2260x600x1270 123x123x40
905838 |pcs| 905936 |pcs| 906006 |pcs| 906009 |pcs 906021 |pcs 906071 |pcs
36 2 24 6 \ 10 \ 2
L=1060 L=652 @64 /36,4x59 @42,4x1252 042,4x1252 B42,4x1252
906583 |PCS 906725 |PCS 906727 |PCS 909097 |PCS 909246 PCS 909256 PCS
15 4 4 6 47 904
126x181x14x3 260x2080 260x1307 M8x60 M12x140 216/8.4x1.6
909267 PCS| 980161 PCS 909519 PCS 909633 |pcs 909637 |pcs 909638 |pcs
2 22 40 50 100
&) &
M8x70 M10 50x380x380 M8 M10 220/10.5
909639 |pcs 909852 |pcs 909855 |pcs 980100 |pcs 980104 |pcs 980114 |pcs
50 114 17 50 156
M10x25 M8x30 M8x35 @5x60 @5x90 . @4x20
980123 |pcs 980150 |pcs 980151 |pcs| 980152 |pcs 980154  |pcs 980160 |pcs
772 8 16 32 47 80
@7x60 M8 216 /8.4 224 /8.4x2 224/13 M8

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



081310M

DATE: 4.9.2015

WINAM GROUP
SPORT

_— Impact Area 190.9 m2
Grid size = 500 mm

620

130

7m

© 2090
520

(@]

@o
N -

O

O

i»

‘081282M ©

4290
e -
- m .
BT

6790

. . _081225M
00 . C

3360

1710

-

3360 -

9060

11260

‘08 VAN

.70, O O
‘081250M 2/7 ° °

4720

——C0 - O. O
38;%

/ © 0 081245M 081201

.10, 0 0. .

“081201M

-9490 -

12600 °

00

" pB1200M

1.1640°

© 081200

‘2530

M’

. . - .O . ‘O . - . ‘O.
400 - T - - ]- 2430 -T-

|
L 081235M | | 0B1235M,

0o-qg .- -0 O

. 2430 ,C? .,(J 2500 ‘:? - CD,

© 0B1230M
Nomme!

2190 -

6700

. O. [ 1’820‘ .

. [

| 2550

- 081230

M+

SO OX

| 74000

1910 '

23200

3560

8960

12410

15800

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP 081310M

SPORT DATE:  4.9.2015 5

Area of Movement 283.3 m2
Impact Area 190.9 m2 1:130
Max Falling Height = 2960 mm 0 7m

13080

/ > >
[C I - R
rd| )
y 3 2 F F 3 w

TN

23060

20850

15740

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP  081310M
SPORT DATE: 4.9.2015 5A

1:125

1:100

e
i

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



081310M

DATE:

WINAM GROUP

SPORT

4.9.2015

Max Falling Height

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

081282M

SPORT DATE: 23.8.2017 1(2)
(1) 706037 |pes|(2) 705335 |pes
1 2
| |120x120x1000] |
905838 G 95677 wl(e) 505105
4 6
DET 16 m
@4x20 | | PT-28/32-H| |
905104 |res(B) 905761 [pes
705388 @ —@ —
@, 16| /ﬁ 4]
Mo | |120x120x700]| |
906583 (7) 905830 [pcs|(8) 905838 |ps|
2] 5
PARTS
DET 43
; 123x123x40 | | L=1060 | |
(9) 909246 [Pcs|10) 906583 [pcs|
2N 6 2]
QL 7
S
M12x140 | |126x181x14x3| |
(1) 980104 [pes|32) 980123 |pes
2 56
DET 10-12 - E
DET 8 OR 13—16
g5x90 | | @7x60 | |
(3 980100 [°cs|(14) 980154 |Pcs|
| 2] 6]
o5x60 | | ©24/13 | |
({5 705388 [Pcs|(i6) 909256 [Pcs|
2 56
<)
120x120x2090 | @16/8.4 | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

081282M
SPORT DATE: 23.8.2017 2(2)
1: 37 1: 31
E
E
S o §
N g a
o
N
3 1060
i || | |
[ L] ] [
| 1180 |
Area of Movement 15.6 m2 1305 1:39

Impact Area 15.6 m2
Training Space 1.5 m2
Max Falling Height 2110 mm

a
N

245

1650
3850

| 1780

1865

1060

4865

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP

081290M

SPORT DATE: 8.10.2014 1(1)
(1) 705024 |pcs|(2) 705345 |pes
Q T 2
) PARTS - |
o008 DET 17 15x640x560 120x120x1520
(3) 909633 [PCs|(4) 905104 |pcs|
PARTS @ @ @)
DET 3 - .
M8 M10
@ (5) 905761 |pes|(6) 905830 |pes
;ﬁ)\ 2] 2
120x120x700| | 123x123x40 | |
(7) 905936 |Pcs|(8) 909256 |pcs|
2 28
BASE < 28
. DET 1-4
OR 7-9
L=652 | | @16/8.4x1.6| |
(9) 909855 |Pes|(10) 980104 |Pcs
8] 2
M)
5
M8x35s | | @sxe0 | |
1:25 |() 980123 |pcs s
F 29 .
o7x60 | | ]
@ 901899 [Pcs Pes|
1O
Lro) o P i ]
2 3 3 )
2 —
o 650
= PCS PCS
N % - -
770 ‘

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



WINAM GROUP

s

081200M =i A
SPORT DATE: 24.8.2017 1(2)
(D 706017 [res|(®) 980114 [pcs]
L 4
@mmﬁm
| eax20 |
(3) 705428 [PCS|(2) 902272 [PCS)
1 < 4]

705

428

DET 22-24
OR 25-27

90x90x450

50x380x380

(6) 909639

N

M10x25

(7) 909638

©

220/10.5

pes|(8) 909637

S

D

L1

M10

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP
SPORT

081200M

DATE: 24.8.2017

2(2)

1:15 1:15
)
S
)
A
865
I
Area of Movement 12 m2 1:40
Training Space 5.3 m2
Max Falling Height 300 mm 985
15T
0 = B 1500 rel s
¥ S = I
AT
)
)
g}
2000
3985

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

N

4

081201M PLAY
SPORT DATE: 24.8.2017 1 (2)
(1) 706018 [Pcs|(2) 980114 [pcs|
(] B
@M
| eaxe0 | |

DET 22-24
OR 25-27

Pos|(4) 902272

90x90x450
(6) 909639 |Pcs|
| 8]
50x380x380| | M10x25 | |
(7) 909638 [Pes|(8) 909637 [pcs|
16 &

7
920/105 | | Mo | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP
SPORT

081201M

DATE: 24.8.2017

2(2)

1:15 1:15
o
Ire)
<
Xz
945
I |
Area of Movement 12.3 m2 1:40
Training Space 5.3 m2 1080
Max Falling Height 450 mm
1500
i I —
[T9] —Ti] T — 0
00} i i — 00
< i | <
j— i I — M
o
o
0
4080

WinAm Groub / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP

SPORT DATE: 12.10.2018 1(3)
(D 706026 |PCs|(2) 705039 |Pes
905830 1] 2]
PARTS
SET 29 PARTS
DET 48 S
216x974
905800 (3 705040 |Pes|(4) 705037 |pes
( 2] E
PARTS
DET 1,16
/ 906583 - -
/ ?16x764 120x120x2590
¥ (5) 705335 |pes|(6) 705347 |Pcs|
& | 2| B
@\ PARTS | o
DET 43|120x120x1000 120x120x1990
d (7) 902195 |Pcs|(8) 902232 |Pcs
> 8] 4]
g 5
-
150x50x50 | | M10x55 | |
%g (9) 902233 [PCs|(10) 706087 |Pcs
DET 10-12 | B
OR 13-16 T |
905838 @/
BASE |
DET 1—-4 - ]
OR 7-9 M10x30
(1) 980100 [P¢S(12) 905103 |PCS]
25x60 - PT—28/32—H_
(13 905104 |pesfiz) 905761 |Pes
24 ﬁ 6
Mo | |120x120x700 | |
15 905830 [pes|(16) 905838 |PCs|
4 6]
123x123x40 | | L=1060 | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081230M = e

SPORT DATE:  12.10.2018 2(3)
(17) 906006 |pcs(i8) 906583 |pes|(19) 909246 [pes|@0) 980114 Pes|(2)) 900240 |PCs|@2) 980104 |PCs
6 |19 16] il
064/34,5x59| |126x181x14x3| | Mi12x140 | | @4x20 | | @8x70 | | @s5xe0 | |
@3 980123 |pes|@4) 980154 |pes|@9) 980161 [Pes|26) 905800 [Pes|59) 909256 [PUs|Gg) 706263 [PCs
72 o 8 ul 72 1

=) | & @ S
o7x60 | | @24/13 [ | wio  [24|2260x600x1270] | @16/8.4 | | N
702339 |PCs)
1]
1878 | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP
SPORT

081230M

DATE: 12.10.2018 3(3)
1:60 1: 40
1060 ‘
_ - =
[ —
Al Y
Q
Q f
& 10
1] 8| 2 ﬁ I
’ ¢) S8 3 R
3
<
N
L o
o
L - hvg 1 1
120 ||
3
2380 - 1180
Area of Movement 30.7 m2 2505 1:55
Impact Area 30.7 m2
Training Space 3.3 m2
Max Falling Height 2620 mm
8 1oy
3 1845 < 1 2245 S
o
©
&
6505

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

081225M_'

SPORT DATE: 24.8.2017 1(2)
(1) 706025 |pcs|(2) 705348 |pcs|
D i 1]
|| 120x120x300| |
(3) 705349 |pcs| (4) 980114 |pes
2 4

705348

DET 1—-4
OR 7-9

=

120x120x400 @4x20
(5) 980123 [pcs|(6) 905104 |pes
F 28] 2]
g7x60 | | M0 [ |
(7) 905761 [pcs|(8) 905830 |pes|
ﬁ 3 3
120x120x700| | 123x123x40 | |
(9) 905838 [pcs|(10) 980104 |pcs|
\ : :
L=1060 | | @5x90 | |
(1)) 909256 [Pcs| pes
28] .
o16/8.4 | | ]

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

081225M
SPO RT DATE:  24.8.2017 2(2)
1: 20 1:25
Ol un | 0
23 0 5 1060 ¥ 83
) ~ ~
3 QT % )
2340
! |
Area of Movement 16.2 m2 1:40
Training Space 10.5m2
Max Falling Height 435 mm
2485
o
0
0
1500 8
& g ——] 3
o)
o
o
0
©
| 3180 |
| 5485 |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

081235M

N

SPORT OATE: 1292017 1(3)
PARTS (1) 706027 [pes|(2) 705041 [pcs|
DET 5,7 K 5]
PARTS PARTS
BET 55 906071) BET 29 PARTS
DET 17
| 19x451x1240| |
905830 (3) 705044 |pcs|(a) 705050 [pes
1 2]
PARTS 906021
DET 9 5
(\D u u
120x120
e IL (5) 705059 [pes|(6) 980114 pcs|
il € KN
PARTS l
DET 51 G?/ | |
- / WALL CLIMBER DEEP @4x20
>, (7) 905083 |pcs|(8) 905112 |pes]
8 8
904064 Ll
L N
@ l 232 222
- ~ @ (9) 905761 |Pes|d0) 909519 [Pes
2 3
0 ] “ = 3
<P 906009
BASE ul'-
DET 37-39 BASE
OR 43,44 DET 45-47 ] ]
OR 44,48 120x120x700 50x380x380
BASE 906009)  |(1}) 904064 [Ps|(2) 906021 |Pes|((3) 906071 [Pes|(4) 909639 [Pes
DET 1—4 2 4 1 =l
OR 7-9 ’\\ \ <
260x3456 | | 242.4x1252 | | @42,4x1252| | wmioxas | |
(19 905830 [pcs|(1) 909097 [Pes| (7) 905104 [pes|(18) 902273 |pes|(fg) 980104 |°CS|
2] | 3] 8 % 24 | 2]
123x123x40 | | wmex60 | | Mo | | | osxe0 | |
909267 |PCS(2)) 980123 |PCS[2D) 980150 |Pes(2d) 980151 |Pes|24) 906009 [PCs(25) 902195 [PCs|
1] 64] 4] 8] 1] 24]
= N/ i
[ ] | —
M8x70 | | @7x60 | | M8 B 216/8.4 22| @42,4x1252 | | 150x50x50 | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081235M |
SPORT DATE:  12.9.2017 PLANY 2(3)

(08 902232 [Pes|27) 902233 |Pes|28) 909256 Pes| @9 909637 |PCS|30) 909633 |Pes|(3) 909852 [Pes
12| 12] 104 9 40| | 40]
< | @[] @l ]+
& 5 ) \ms Q‘}
M10x55 | | Miox30 | | 216/8.4x1.6| | Mo | | mMe | | wm8x30 | |
(32 909638 [Pcsf339 980161 |pes|G4) 702339
18, 240 7 ’
& X
N/ \-/
@20/105 | | w0 | | 118x7s
1:25
(@]
Net ©
Verkko

1080

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP
SPORT

081235M

DATE: 12.9.2017

3(3)

1:50 1:40
Max Falling Height.
g 9 1250
— = __ _
o
g s 8
~ 2 N
0
AV | Ql Ql
8 ‘ 1370 ‘
- I |
Area of Movement 25.6 m2 1195
Impact Area 25.6 m2
Training Space 4.7 m2 1495
Max Falling Height 2960 mm
o
~
<
~
= = 2475 ©
= - D
2

765

\__/

2760

2000

6190

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

081236M

SPORT DATE:  24.8.2017 1(2)
(1) 706028 [Pos|(2) 705041 |pes
PARTS ] 2|
905830
| 19x451x1240| |
(3) 705027 |pes|(a) 705335 |pes
@ 2] 2]
: 120x120x1520  |120x120x1000| |
(5) 980114 [pcs|(8) 905103 |pcs|
g4x20 | | PT-28/32-H |
906021 (7) 905104 |Pes|(8) 905830 [pes
i % 2|
M0 | | 123x123x40| |
(8) 906009 [Pes|i0) 906021 [pcs|
2 \ 1
042,4x1252 | | @42,4x1252 | |
(1) 905761 [Pes|i2) 906583 [Pes|(13) 909246 [pes|
4] 2] 6]
120x120x700| | 126x181x14x3] | M12x140 | |
909633 |Pes|(15) 909852 [PCs|(16) 980100 [Pes|(7) 980104 |pes|
§ 16 16 2] 2|
Me | | wmsx3o | | esx60 | | @5x00 | |
980123 [PCs|(19) 980152 [PCS|@0) 980154 [PCS|(2)) 909256 |PCS|
40 15 B 49
=
o7x60 | | o@24/8.4x2 | | @24/13 | | woessa | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP
081236M
SPORT DATE:  24.8.2017 2(2)

1:25 1:25
0
To) ToYNTs!
0 3|8
1250
o
e
HIN v T [T
1370
l |
Area of Movement 13.7 m2 140
Impact Area 13.7 m2
Training Space 1.2 m2
Max Falling Height 1645 mm 1500

1600

245
(1]
(1]

1450
3320

1650

1000
4700

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP

SPORT

081245M

DATE:

23.8.2017

T 1(2)

@
-

PARTS
DET 43 \@
=
//’

‘O >
BASE

DET 10-12

OR 13—-16

(1) 708030 [pos|(2) 705231 |pes
1 1
905830
905838 705388 - [120x120x2290 |
(3) 705335 |pos|(a) 705388 [pes
@ 2] a
906583 120x120x1000|  [120x120x2090 |
(5) 705402 |pes|(6) 705405 |pes
1 1
PARTS | |
— |~ DET 8
PARTS <\,>
120x120x2290] | 120x120x500
(7) 705406 |pcs|(8) 902195 [pes
L I > 4
705406
126x181x18 | | 150x50x50 | |
(9) 902232 |pcs| Pes|(17) 706088 |Pes|(12) 905103 [Pes|
2 2 1 7]
s
M10x55 | | Miox30 | | | pT—28/32-H |
(13 905104 [Pes| () 905761 [PCs|(15) 905830 [PCs|qd) oose3s  [5|2) 906583 Jecs|
24 6] 3 \ 2 / 2]
M10 || 120x120x700 | 123x123x40| | L=1060 | | 126x181x14x3| |
909246 |res|(19) 980114 |Pes|20) 980100 |Pos|(2) 980104 [Pes(22) 980123 |Pcs|
7 | 8] 3 | | 3] 40
f /
Mi2x140 | |  gaxeo | | @sxe0 | | w@sxe0 | | e@7x60 | |
@ 980154 Pcs@ 980161 |Pcs @ 705040 PCS 906006 Pcs@ 909256 |PCS
71 4 2 4 40
(=) O &)
@24/13 | | MO | | otex7e4 | | @64/34559] | gie/ea | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

SPORT DATE: 23.8.2017 2(2)
1:35 1:35
— — - - ]
Tol Q To
a L 38 o §
N - N b - N
1060 — o
e
[T 1 ~ 7 0 O0
2360
[ |
Area of Movement 21.5 m2 1:45
Impact Area 21.5 m2
Training Space 3.6 m2 2485
Max Falling Height 2320 mm
E ﬁ 1780 NPy

245

_/

1825/
1685 (

2180

6190

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

og1250m  _ .,

SPORT DATE: 24.8.2017 1(2)
(1) 706031 [Pes|(2) 705328 [pcs|
D i 2
| 120x120x570| |
(3) 705329 |pes|(4) 705330 |pcs|
m i m i
120x120x720| | 120x120x870| |
() 980114 |res|(6) 905838 |[pes
b L B
gax20 | | 1=1060 | |
(7) 905104 [pcs|(8) 905761 [Pcs|
O LT
Mo | |120x120x700| |
(9) 905830 [Pcs| (1) 980104 |Pcs|
6 6
123x123x40 | |  @5¢00 | |
(1)) 980123 |pes|12) 909256 |pes
48 48]

F
g7x60 | | @16/8.4 | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081250M
SPORT DATE: 24.8.2017 2(2)

1:50 1: 30
P
3l o
s °© JE
o| 0o
D 1060 g™~
. | +d H
\ 1180 \
I |
Area of Movement 28.7 m2 1250
Impact Area 28.7 m2
Training Space 12.4 m2
Max Falling Height 905 mm 4125
/ 1500
o| v
To) S| ©
o
o
o}
6635
7125

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

081280M

SPORT DATE: 23.8.2017 1(2)
(1) 706036 |Pes|(2) 980114 |pes
D 1 8
| gaxz0 | |
(3) 905104 |Pos|(4) 905830 [Pes
16 4
PARTS @,) @
DET 1
PARTS Mo | | 123x123x40 | |
DET 42 PARTS (5 980123 [pcs|(6) 905761 [pcs|
DET 16 F 48 il
NN - -
t{i|@§g\ @7x60 120x120x700
/‘g/ \\w!/ \q\ (7) 902273 |cs|(8) 705328 |pes|
o o AN \é}\ 32 4
TS ST i
’ x:\./\ /‘\ /\§»? //}‘ W@
SN N \g,,/ \ 120x120x570
X ./.\/\ / F (@) 705537 [Pes|({Q) pes
=< % % 1 g‘.':‘_'; 2
I ;‘,f“ _—
150x50x50
(1) 906727 [P¢s|(12) 906725 |PCS|
\ i / )
BASE @60x1307 B 260x2080 N
DET 1—4 (13 980104 Pes|@@) 980161 [Pes|
OR 7-9 4] 52
@)
— | @
@5x90 | | M0 | |
(19 902232 |pos|(i6) 902233 |Pes|(i7) 909256 [pes|(8) 702339 [Pos|
i 16 48 |
o
@‘/ X
M10x55 | | Miox30 | | @16/8.4 | | 11ex78 | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



SPORT

DATE:  23.8.2017 2(2)

1:47 1:24

100
605
610
705

1425

Area of Movement 22.3 m2
Impact Area 22.3 m2
Training Space 9 m2

Max Falling Height 610 mm

2320

1550

3490
4550

4260

5320

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

Impact Area EN 1176 REF:

DATE: 20.2.2018

:
3

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

E.g.

concrete or asphalt

Note. Lappset does not recommend
totally hard surfaces at all.

Materials with very limited . wood
impact attenuating U 1Y Dl 1Y
properties.

h <600

With movement
e.g. rocking

M

fine gravel 0—8 mm
B e
SR L 44

Materials with significant
impact attenuating

h <1000

Py
a

G oac G4 a4ga
2<% 10 cm i
4.4 - 44

properties. gross
unsorted sand
@wcmi%
h <3000 Loose fill material
E.g. IR R I DR
sand/gravel 0,25...8 mm D60/D10<3,0 | = . Lt <
Woodchips 5...30 mm T i A S
bark 20...80 mm u ot R &
= =T -C-C-C-s-o
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m g@
50 mm ~> 1,5...1,7 m 1 A2 L SL é,@,*,‘
60 mm ~> 1,8..2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2,1..2.5 m e —— PP

Note. For accurate values, see
manufacturer’'s instructions.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


- N
WINAM GROUP s

REF: A
EN 1176 FOUNDATION NaTE:  20.2.2018 PLAY

REMOVE SAFETY SURFACE/SAND/GRAVEL
TO CHECK FOUNDATION

REMOVE SAFETY SURFACE /SAND /GRAVEL
TO CHECK FOUNDATION

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PAYL

SPORT DATE: 8.12.2016 1(10)
DET 1 DET 2
V16 1 > 150 .
9| {O——1 7
: 5 g e 120 Nm
s @ . M16x170
o [[O]] ] = '
= . ] x : Go o
2 S So ) - d% o°
T i 9°),9°mge 9°Bg° 97 9" dege
N RS S S 55 S S R R 5
905/380 / 160 Concrete / Betoni K30
DET 3 DET 4
)/ x60
(980123)
M10
(905104) 716 /8.4
(909256)
905/80
DET 5 DET 6
N N N
l 540 l 64%
@)
N O
O
I | E R I
K4 % .oo égjooooooo.. OOOSOS o9 Oé | rrr
2 g 1 oQ __Q A v
PrBwrrrrrrrrzrrrrrrnr
CONCRETE 300x300x1500




WINAM GROUP BASE

i" 4
SPORT DATE:  2.11.2018 2(10)
DET 7 ?8x400 (x2) DET 8
A 500 HW
\V4
A
mi O |
@) OOo°O /OOOO -
o [YeF 5w M10 b
D oog0| [0 3% 0] i (905104)
JON DN 0N DN N N N SN N N N N X @
905/61
| 500x500 demt
Concrete / Betoni K30 —
DET 9 DET 10 @8x400 (x4)
@7><6O A 500 HW
\V4 7
(980123) ]
)
)
@ A B
72 oo"ooooo ? O:‘Oo O
@\A@ N % °°O<:° oeog ?:5 :ffo%u‘;oo O
216/8.4 /SN Oy 9o ] gl
300x000
-y Concrete / Betoni K30
DET 11 DET 12
~
N &y
b7x60 >
(9807123)
M10
(905104) @W@/Sﬂr
(909256)
N ___/
N __

WinAm Groubp / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



WINAM GROUP BASE

SPORT DATE:  29.4.2015 3(10)
DET 13 DET 14
V16 & > 130
(@ (o
o o 2 o : 120 Nm
S o) fex 2 ? M16x1/0
o | 1O1O]] ] =

2, NS (OR 8

Dg m
@oooo ooo@ : oOo
© O °c  O° ’
/ O rogger OTgO”° OO Q °c°
906557/ L 280 J %

ﬁ“ﬁ“ﬁ“ﬁ“ﬁ“ﬁ“ﬁ“ﬁ“ﬁ“
Concrete / Betoni K30
DET 15 DET 16
s ™~
7 DR
3 b7x60 > o
= (980123)
(905104) : 3
By
316 /8.4
(909256)
9062557/
DET 17 DET 18

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



':

WINAM GROUP
BASE _ 7
DATE:  29.4.2015 4(10)
DET 20
J10 ¥ 90
(4x)
O
Sl
A
o’ qfo? 77 @ O o Z OOO oo q;c
ST ISR
Betoni /
Concrete
Safety surface
DET 22
AT T
-
O
@) )
v €
S o ;
ﬁ%( = = i
S Az
830
DET 23
902272
P
= MT1Ox25
= = (909639)
“Js © 8 7L 909519
. @2@/%}5
s 2\ (909638) 9 ©
) M10 @
g | (909637) M10 N 320/10.5
902272 (909637) g © (909638)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

N

BASE o

PLAY
SPORT DATE:  29.4.2015 5(10)
DET 25 ~- |DET 26
Esireikad Pre—drill hole.
705412 /
210 1 90
55 Nm
) <« M 0x100
Ook K o
905743 - : - BN ;P°$o
e Betoni / Concrete K30. O
M0 — e i S
afety surface A
DET 27 DET 28
/05096
//////E 906140
905745
M10x100 H TNl L e .
(909628)
DET 2 Esireikd / Pre—drill hole. DET 30
@10 1 90
.35 Nm
/Q
<« M10x10Q
%)
I
ook . o 0f w00 op oo onf 0o 0° o oo oc
> or c{fl’." f-"{}af.“ o oé;f o G'QO." ot O-DO:) 9:?-0 ocof c-wo.c ;D o
\ Betoni / Concrete KJ30. =
Safety surface A

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




C

WINAM GROUP
BASE _ ¥
SPORT DATE: 29.4.2015 6(10)
DET 31 DET 32
MT1Ox25
(909639)
- Y i
«©w H
S R o S J
S ]
A §
PN /00 080
D, . #20/10.5
(509637) (909638)
DET 33 DET 34
906644
506645
(909248) J
M10x30
524 /13 g (s09629)
(980154) ) 220/10.5
= (909638)
& © ® M10
MT2x40 /& 9 ® |g——" (909637
- |€
(909109) - 902272
005299 L
DET 35 DET 36
‘ 902272
ﬁﬁ it M10x25
o | (909639)
S @20/10.5
N (909638)
909519
T M10
- 90965/
ﬁ )

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

BASE

SPORT DATE: 29.4.2015 - 7(10)
DET 37/ DET 38
@10 7 >90
W AW ] /\ N
N =\ ) 5 O
Nk 3 s o
-1 1959 3 > @
o oo ot 0 ¢
905817 = /
M10x7100 \ngﬂﬁe 306014 90
DET 39 DET 40
/055472
909628 @ |le| e
g MTOxT100
(909628)
DET 41 DET 42

Esireikd / Pre—drill hole.
@10 ¥ 90 >, 35 Nm

/Q
<« M10x100
N
AV e\ —

o . ° 02 Of op op 3 oe of 0p 02 o o0f or
R ol 9, 97 or 90 o o0 Ofgs 00 0% 2 Ofgol ¢
. o or 0?2 ° oo O° ° be ¢
op o o op ° oe 0; ' oo $ o
o o ° ©° ' o o ®
° o [o1 oo o (e o
Tox o K or o0 Top 977 92 dHos T oop os oo or |of
o o o ° ° o

\ Betoni / Concrete K30.

Safety surface

> 100

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




N

WINAM GROUP BASE \[ 4
PLAY
SPORT DATE: 15.8.2017 8(10)
DET 43 DET 44
904064 o
ﬁﬁ it MT0x25 .
= | (909639) \/
S 320 /10.5
= (909638) )
|l O
L(Lf% Z
i
WAl
o
DET 46
J107>90
N
8% O
& O
e O
e | ),
: 906114 / 90
M10x100 \gfﬁyée
DET 47/ DET 48
M10
\
220 /10.5
(909638) S
M10x100 MIOX2S> —
(909628) (909639)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

BASE

(
SPORT DATE: 29.4.2015 9(10)
DET 49 DET 50
O
O
O )
v | NN N\
| - NN N
ST T O v SR e IR
= 0 ’ 2l gege [l %l esgq 8
§7 = = ﬁ 1 Qs Qs OOOEO: Og 05 Q¢
| SN DN DN °. °. ee OO/A\ROZD: i
830 M10x100 /5 tere
DET 51 DET 52
V103 >90
.
—O O
> O
7 Y
909628
906731 90
DET 53 DET 54 906/29
- M10x25
- . (909639) \
220/10.5 /4
N o~ (909638) AR
NN !E
290
909519

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP BASE

A V4

SPORT DATE:  29.4.2015 " '10(10)
DET 55

STEELNET @6 #150 NOTL!
(1400%2100) Hox
Concrete

1500X2200X200 K30

O
O
ﬂ\

T %}i

ISR TR TS T 5 IR

DET 56 DET 57

906 /20

VA S —

MTOx25
(909639)

(9096 38)

YA A A AV A/ A/ A/ A/ A/ A

M710O
<909657>
DET 58 DET 59

Esireikad
Pre—drill hole. ~

»10 J 90

M10x100 o if
35 Nm | O

——— 0, A

o-* h 0.0 0" g.o O 0.°
wWWwféw?%& K
\ Betoni / Concrete

Safety surface

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




C

WINAM GROUP PARTS
PLAY
SPORT DATE: 26.8.2015 1(10)
DET 1 DET 2
716 /8.4
216 /8.4

(909256) \\\‘
»

1 /x60 R
(980123)

Acryl+sticker

|
905934
DET 3 DET 4 ®W6/8 .
o : ME :
If two—sided
70502400 | oo Maras (009533)]  /(509256)
Y= SCrews 905956
@ s
(909633) =@ (901899) B35
@W6/8 4 / 5 / (909855)
: ’ S~ .
(909256) If two—sided
/N use M8x45
M&8x35 SCrews
(909855) // (901899)

PETS 016 /8.4

(909256)

() /x00 =

(980123)

DET 6

HTXEO0 216 /8.4

(980123) (909256)
906009

7

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A

WINAM GROUP PARTS _ &
PLAY
SPORT DATE:  26.8.2015 2(10)
DET 7/ DET 8 @24/W3
M8 724 /8.4 LG
(909633) (980152) @ ( )
MT2XT140
‘o (909246)
i M8x30
(909852) 905105
.
DET 9 DET 10
/05049
716 /8.4
(909256)
/X600
(98ow257\\\\§7¢®
/ — 4 /x60
906114 / (980123)
/00597
DET 11
0 /x60
705397 <98@W23>
216 /8.4
M10 (909256)
(905104) =@
@ /05392

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




N
WINAM GROUP PARTS &
SPORT DATE: 26.8.2015 T 3(10)

DET 13 DET 14

O
216 /8.4 0
(909256)

@0/x60
(980123)

DET 15 DET 16
ox90
8X100 M
(509233) (980104)
332 /13.5 e 905830
(909253)
Place the logo laterall
M12 @24 /8.4
(902234)\ “ (909505)
DET 17 DET 18
Joxdu J %958%?84)
(980104 ) P
905830 905850

Place the logo laterdll

Place the logo laterall




PARTS (o

WINAM GROUP
SPORT DATE: 26.8.2015 — LA 4(10)
DET 19 = DET 20

T-——  wmiox40
(901487)

020/10.5x2

(901302)

M10
(909637)

M10x35
(902252)

19x21x25
(903193)

@20 /10.5x2
(901302)

M10

(909637)
DET 22
DET 21
<> 705433
e 705454

7

—

TEE

Muoviosan sijoitus (903193)
Position of the plastic piece

3x /0

=
‘ " (900240)
%\@

=

DET 23
52
(905083)

216 /8.4

(980151)

DET 24

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




PARTS '

WINAM GROUP
SPORT DATE: 26.8.2015  —/\7 5(10)
DET 25 |2y 0 c DET 26
(909850) ~ 1 216/8.4
- U (909256)
24/%347 N 07 %60
(980152) (980123)
M8 -
(980160)\ |~ /00459
NS ] 27x60
S <’ (980123)
DET 27 DET 28
@16 /8.4
(909256)
9U6o// ~ £ B37x60 <;;;;> e
. (980123) ™ ¢5 ?§
@5X60
15% 35 (980100)
980129 )
( ) N -
DET 29 DET 30
MB8x 30 <
902195
1 Ox 30 (909852)
, 90611/
(902233)
@24 /8.4
ﬁ\\\\\E 3 (980152)
(P
" M10 3 N
— a/f%\\ s
MTOx55 CRRSSION
980123 v
906006 (902232) ( ) 716/8.4
(909256)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM
SPORT

GROUP

PARTS "o/

DATE: 24.6.2020 =\ 6(10)

DET 31

716 /8.4

(909256)

J/x60

/05401

(980123)

DET 32

<M8X4O> 7 €
909875
Y

X @WG/%;4
)

DET 33

/05502

716 /8.4
(909256) \
c}

1 /x60

(980123) P LAl

THE WATER HOLE J

17 705520
;\\\
a) THE WATER HOLE

[IRN

(WEx60
< (906630)

DET 36

90663/

inAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP PARTS g

SPORT DATE: 26.8.2015 =LA 7(10)
DET 37/ DET 38
N
N0
@7x60//
/05568 (980123)
<) > 016 /8.4 | UL
M10O @ e (909256)
(905104) =@ @
®
705568
DET 39 DET 40
906615
@ A ) ) S
(A = EJ
@ ® 9 g R
| ~ J @7x60
o (980123)
906613 = — L 216 8.4
fg (909256)
DET 41 DET 42
M8x40
(909873) MT0 MTOx55
705585 (980161) (902232)
D V== M1 0x 30
° (902233)
906 /2 7/
906 /20 £X

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PARTS ‘iiii

WINAM GROUP
SPORT DATE: 26.8.2015 /A" 8(10)
DET 43 DET 44
Woxo60
B5x60 (980100)
(980100) \
/</
006583/ /7
/05406
DET 45 DET 46
Ex60 =
(906630) I =
/ / / \\z_
[ | ESS NN
) i
S = \
/05098 L=
906147 g1 TTTT11

NYEEEE
O/x40 -

(980106)

(980128)
DET 47 ~ — DET 48
5% 40 - 705037
(980102) r (900240)
I
906148 =\ 905800 A &
= “ 757 60
= “ (x2)

Huom!
Fsireika

Note:
Pre—drilled
hole.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




PARTS (o

WINAM GROUP
SPORT DATE: 26.8.2015 — /A" 9(10)
DE%SE) o DET 50 .
(905083) 318—-20
905112
( ) 7906767 (980160) 18445
(901899)

216 /8.4
009256)
J3x90

(
(

903093)
908019

(980150) A
716 /8.4
(980151)
MEx /0
(909267)
DET 51 M1 0% 30 V10%55 DET 52 @W6/84
902273 322 (980151)
(905112)
MEx6 0
J32 (909097)
(905083)
/ ()
M8 s BN
902195 T,
! M 10 | ®
DET 53 DET 54

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP PARTS v

SPORT DATE: 26.8.2015 — /A" 10(10)
DET 55 DET 56
® )
[ | o
e Wox60
| ) (980131)
[ |
I ]$ 906632
( I 9060652
T @ H
DET 57 DET 58
DET 59 DET 60

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333





